Simplifying Expressions (A)

( 81u3>
u-| -
Ou

Simplify each expression.

6. b2_22_];j
7. 5x-6x-x
8. —8-5y-y*
o 81ub

- —9u?-3u?

2
0. —y- (__y)
-y

Math-Drills.com




&

Simplifying Expressions (A) Answers

Simplify each expression.

81u’ 203
cu- | — 6. b*- =—
Ou 42]9
= —9u° =b
4
2 7. 5x-6x:x
Vo (‘1) = 30x°
2
= —v
; 8. —8-5y-y?
1262 = —40y°
722+ 9
= -2z
81u®
9, ——————
3b° 2 —9u? - 3u?
2 (o) e
= —27b°
2
16x? 10. =y~ (_—);)
R .x -
58)62 = —2y
=2x
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Simplifying Expressions (B)

103

2
10c2 e

2.2-10-8

5.4y (=2y) - (=5y)

Simplify each expression.

90y>
6. —
y-9
80u*
7.
10-u?
8. —1-4x-6
106
b —
’ 10

10. 327 (—1)-2°
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Simplifying Expressions (B) Answers

Simplify each expression.

10¢3 90y’

1 —C~7c2 =
102 y-9
—= 7C3 — —10y2

2.2-10-8 80u*
= SOZ 7 10- u2

= 8u’

3.y (—2g-y

= —24x
3
gy 3% 10b
3u —b-—~
; 10
= 8u — _p?

5.4y (=2y)-(—=5y) 10. 322 (—1) -2

= 40y° = —37*
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Simplifying Expressions (C)

L
2. % (—92%)
3.6:(—¢c)(—c¢)

5.5:2v-1?

Simplify each expression.

6. 5a-a-a°

7. x-x-9x?

8. =317 (=) (—v)

9. 6a-(—1)-4a

10.2-(=1)-2°
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Simplifying Expressions (C) Answers

Simplify each expression.

2

a 6. 5a-a4-a
q-a = 5Sa
:a2
6 7. x-x-49x2
L= (—92%) =
—Z
— 547
8. =317 (=) (—v)
= 3"
. 6-(=¢c)- (=)
— 6¢°
9. 6a-(—1)-4a
C—x (1) (—1) = —24a°
= —xz
10. 2-(—=1)-7°
5-2v-y? _ (—2Z)
= 10v°
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Simplifying Expressions (D)

Simplify each expression.

120x* 8¢c?
.- 6. — -4
2x-10x —cC
( 6V3) 25a*
2 (25 7
-V —5a - a?
K2 . (A2 10 4
4 (=7b%) - (—6D7) G Lot o
10u?
3
Yy
Y-y 2 .8y?
9 L
3
X
' __x'(_l) 10. —x- (=3x) - (—x)
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Simplifying Expressions (D) Answers

Simplify each expression.

120x* 8¢?
— 6. — -4
2x-10x —C
—= —6_x2 — _32C
3 25a*
o (O 7 =1
—v? —5a-a?
= 12v = —5a
2 2 10u®
4 (=7b%) - (—6b%) 5. —2 .9y
— 168b* 10u?
= 9y’
3
Y 4
- 4y 2
9. — -8
);)y; 4y2 Y
— 8y4
3
X
—_x.(_1> 10. —x- (=3x) - (—x)
= x* = —3x*
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Simplifying Expressions (E)

. 3x-x-(—5x)

Simplify each expression.

2u?
6. — . u?
u

7. b*-b-10b*

123
42

4x3

—X

35z%
77% -5z

10.
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Simplifying Expressions (E) Answers

Simplify each expression.

3 2 2
all (—5x2) 6. milly u’
X u
= —5x* = 2u’
b, 7. b*-b- 10*
1 = 10°
= —16b
5 . o 1263
9z = 3¢?
= —907>
4x3
3x-x-(—5x) 9 —6'—x
_ 3 5
= —15x — 24X2
2
_ 6y.3l " 35z
y " 7.2,
— 18> LEEE
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Simplifying Expressions (F)

4. x-x-Tx

Simplify each expression.

6. —1-v-v

7. —35a2-a
Sa

8. vy

9. u-u-(—7u)

10, —4?2-%12
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Simplifying Expressions (F) Answers

Simplify each expression.

Su? ) 6. —1-v-v
— (=) =7
8.
5 ; _35a2 ;
4I/l . Sa
u-(—u?) =—Ta
= —4u®
2 2
8. VT -vT.v
) =
= b’

X-x-7x - 7’
= Tx
481>
2.61_3 10. — Su 7u2
_ a4a = —424*
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Simplifying Expressions (G)

140c*
- —Tc-(=5c)

. =96 (—a’)

C6x-x2-Tx

Simplify each expression.

6. x> -4 3x7

10.

6u
_.Mz

6u

80a’
—10a? - (—8a)

—9¢%- (=c*) - (—c)
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Simplifying Expressions (G) Answers

Simplify each expression.

140c* 6. x*-4-3x°
- —Tc-(=5c) =12x
= 4¢?
L
9.6 (—a?) bu
= 544°
9p*
B 6612 ( 0 2) 8 _ﬁ . (—b)
—642 a — 9b'§
= —9a°
o 80a’
6x-x* - Tx - —10a? - (—8a)
= 42 _ 2
2-a* (—a’) 10. =9¢*- (—¢*) - (—c¢)
= —2a = —9¢’
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Simplifying Expressions (H)

144z*
- 6z-(—32)

W

|
p—
-
Q

Simplify each expression.

60b°
6. —
6.2
7. —y-(=1)-y

o _16Ov4
54?2
10. 2-2x- (—xz)
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Simplifying Expressions (H) Answers

Simplify each expression.

| Ou 60b3
.— U _
9 6. 12
= u? = 10b
14474 7. —y-(—1)-y*
— 3
6z (—3z2) =Y
— _8Z2
b3
g —8b*- | —
a* ( —9b2)
3. ; -10a — _8b3
= 10a
, . _16Ov4
4. % (=5x) - (1) 542
= 5x3 = —81/2
5.b-(—b)-b 10. 2-2x - (—x?)
= —b’ = —dx

Math-Drills.com




Simplifying Expressions (I)

.C2'C2'

5¢

B 504u*

8u-Tu

2

10y°
—10y2

)

Simplify each expression.

6. —a*-(—1)-a

7.3b-2b- (—b)

8§, ——— 2
2v Y

9. 8x-x-x

‘<i‘<
Y NN
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Simplifying Expressions (I) Answers

2. 5¢

5¢°

504u*

8u

Tu

= —9u?

(\®)

10y°
—10y2

)

Simplify each expression.

6. —a*-(—1)-a

:a3

7. 3b-2b- (—b)
= —6b°

[
©
~J
NG|
< \<t\)|'\<-l>
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Simplifying Expressions (J)

. —v-3. (—41/2)

. —z%-(—10z7) -3z

Simplify each expression.

; 4x>
C4x2-x
7. —c-c*-¢?
8. 7y° - (=) -2
o 12c°
- —4¢?-3¢?
0 50u*
o =5-u?
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Simplifying Expressions (J) Answers

—_—

. —v-3. (—41/2)
=12y’

—72-(—10z) -3z

N

W
A\l
)
N
o
A\

I
A\

Simplify each expression.

; 4x°
C4x2-x
:xz
7. —c-c*- P
g —CS
8. 7y (—y*) -2
= —14y*
o 12c°
- —4c¢?-3¢?
= —Cz
0 50u*
=50
= 10u?
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